M m
ﬂﬁ_v N
& |5l
-
° -
8 o0
5 & i
: : :

- ocv6 | 6o vss | oy g o g
gaé S8T'€86=AId [V.LOD W e
EE / 1182E+6v9 [P=Ald I |2
= © O Sl

x

m | O
o,
H &

€7.'186 'V10OJ
TSE9TE+6Y9

2186 | ¥£'186

32465
649+300

2.46%
d=gc.21'*‘“

89/'626:W10D
LET'9ECHEV9 UM=ALd

TRAGADO
PROJETO GEOMETRICO
km 648+000 ao km 649+400

o
gufd o eomemomwn |\ | 8|s
Se i < -3vVO0 €6'6L6 | £6'6L6 | o %
Tiy B3

PROJETO - CONTRATO CLAUSULA 6.10

852°086 V10O
S99°09T+6vD WH=ADd

Designagdo:

& E P
IS e
£5 o L2
4 o n | o
4 T g8
voees | vowee | & | o ST
\ =2 Ss
© ST |asle
g1
90£'686:V.L0J s$S
Ve €90+6v9 WI=ALd & ok
o 3
505'286=PId V.LOD F:43
616'220+Gv9 WI=AId o8
5 o
3|8
690686 WIOD vL'886 | v886 | N | &
TT9°Z66+8V9 Ui=ADd s
o
w | o
YEZ'E66:V100 3|9
T9v'868+8v9 UDI=ALd ovees [ 0Tes | & | @
©o
ol 8
g2 3 w
VS8 Z66=/\Id VIO g T1'966 | 21966 | o
ZE0V6L+8Y9 WI=AId g8 NS
Lol ©
%
g
Sl |
8
o|8 2|2|g |5
2% S|8la (%
98'G66 *V.LOJ U986 | 5086 | & | @ m 8|8 m
['4
£19'689+8v9 UDI=A0d 3 sl
2|32
&332
Bl

91'v66 | 9L'¥66

32430
648+600

€
g
1 =
~
<
e
w8 o
g8 I
o7e6 | Seuse | & | @ w
3 m )
- N
O D
0TTT66:V.10D o>
Z90°0v7+8vg WI=ALd !
o w5
ol o o
813 =
5086 | 15086 | & | @ m <
=
°
gga 009'6865AId V.LOD X v
88 / V9L 096+§v9 UWDI=AId m <
L3 X
m
|8 5
71166 | 20166 | N | & Q
§|e T,
£85°166 V103 & Y
SOV 182+8V9 [
g &
H R
T9'566 | 29566 | N | o
3¢ w
1
o
818
71966 | 21’966 m m <
3 o
<L
Z
og
n o
o X
n_._.w m
o Q| o
= g = o ol 38
= = & m = 79'866 | 29866 m M w
o o el
B< | 28 |28
53 W w
[e}e} m
22| B2 |5|¢
o <
9f | 2< |33
&= | 5B |E|2
8" | 8% |k|3

©eolye.B B[E9SS € JApUSE |y Op 9)UBISJIP OJEULIO) WOD 0YUSSap B)sap seldoo w3



